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Write a short note on the following. All questions are compulsory
l. Answer the following. All quesﬂons are.compulsory.
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3. Callus culture

4. Food chain

5.  Anti-transpirants

6. Diffusion

%. Warburg effect

8. Scion

9. Hill reaction

! 10. Quantasomes

(10 x 1 =10 Marks)
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Answer any eight of the following.

EMP pathway.

What is the role of decomposers in an ecosystem?

What is senescence?

Write short note on C2 cycle.

What are hydathodes?

Write any two garden tools and its uses.

What happens when a. plant cell is placed in hypotonic solution?

What is carrier concept?

What is ‘Kranz’ anatomy?

What is photoperiodism?

Name the “stress horrhone-” and the “ri‘peniné hormone”

How electrons are refilled in PSIl during non-cyclic photOphosphoryIation?

(8 x 2 = 16 Marks)

Answer any six of thefollowing.

What are the applications of anther culture?

Write an account on organic fnanures.

Explain CAM cycle with examples.

What are the advantages of somatic embryogenesis?

What is phloem loading and phloem unloading?
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What is the role of auxin in plant tissue culture?

Write an account on xekosere.

Explain transpiration pull theory of ascent of sép

What are the differences between byclic and non cyclic phétophosph@fylation?

= | (6 x 4 = 24 Marks)

Write essay on any two of the following.

Describe the mol;phological and physiological adaptations of hydrophytes?

Explain the steps in the light iﬁdepéndent re'action‘ ofrphotosynthesis. '

Explain citric acid cycle with its importance.

Describe the composition of a culture medium. ‘
(2 x 15 = 30 Marks)
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